H & 0l & AHS B Ml A

A sEEtRSH
M 2EdE s& USII
Cel: sS4 X S JiXl EE (EEEE))
SA B - SR(SH) - MISAY - S ofl &t o & o HIDE2
sSMRsSh 31,363,220 27,775,353 3,587,867
= 1,403,329 1,417,029 A13,700
= 1,470,000 0 1,470,000
7 2,330,740 2,004,3% 326,346
[ 5,427,548 5,174,719 252,829
= 20,731,603 19,179,211 1,552,392
A= =& ¢S 19,631,383 16,629,883 3,001,500
= 265,348 265,348 0
= 1,470,000 0 1,470,000
2l 1,350,000 1,350,000 0
< 3,993,558 3,804,558 189,000
= 12,552,477 11,209,977 1,342,500
sS4 Ax BHHE OiXl EE 10,222,349 7,194,849 3,027,500
= 2,460 2,460 0
= 1,470,000 0 1,470,000
Dl 1,350,000 1,350,000 0
< 3,031,500 2,842,500 189,000
= 4,368,389 2,999,889 1,368,500
sE NEH SHAAMY 2,185,063 85,063 2,100,000
= 1,470,000 0 1,470,000
[ 189,000 0 189,000
= 526,063 85,063 441,000
401 AIEBIL20HY 2,100,000 0 2,100,000
= 1,470,000 0 1,470,000
= 189,000 0 189,000
= 441,000 0 441,000
01 Al&HI 2,100,000 0 2,100,000
HAZC ISIIBHE A
2,100,000,000& *14] 2,100,000 0 2,100,000
= 1,470,000 0 1,470,000
< 189,000 0 189,000
= 441,000 0 441,000
SESASUHSIRJALH A 2,700,000 1,772,500 927,500
2l 1,350,000 1,350,000 0
< 405,000 405,000 0
i 945,000 17,500 927,500
401 AIEHIZL20HY 2,700,000 1,742,500 957,500
2l 1,350,000 1,335,000 15,000
< 405,000 400,500 4,500
= 945,000 7,000 938,000
01 Al&HI 2,700,000 1,722,500 977,500
OSESXHSAMASIXJHEH HE
2,700,000,000& *14] 2,700,000 1,722,500 977,500
2l 1,350,000 1,325,000 25,000




A sEEtRSH
M 2EdE s& USII
Cel: sS4 X S JiXl EE (EEEE))
SA - B - S9I(31H) - HISAY - BES ofl &t )| & o HDS2
= 405,000 397,500 7,500
= 945,000 0 945,000
03 A2 THYI 0 20,000 A20,000
OSESXSAMLSIXHEH HE
o0& 0 20,000 A20,000
) 0 10,000 210,000
< 0 3,000 /3,000
= 0 7,000 A7,000
405 KHAHF SH] 0 30,000 /30,000
) 0 15,000 A 15,000
[ 0 4,500 24,500
= 0 10,500 210,500
01 ML ESHSHI 0 30,000 230,000
OSEASAHSAZdEH #8172
o0& 0 30,000 A30,000
) 0 15,000 A 15,000
[ 0 4,500 24,500
= 0 10,500 10,500
sStERsSAIMNA 7,545,199 7,571,199 226,000
= 262,888 262,888 0
= 954,966 954,966 0
= 6,327,345 6,353,345 226,000
SIEE HAH =5 701,824 647,824 54,000
< 51,620 51,620 0
= 650,204 59,204 54,000
307 gI2to1 & 358,300 304,300 54,000
< 1,620 1,620 0
= 356,680 302,680 54,000
02 QIZIALAIHE X 358,300 304,300 54,000
OZZEE Y RS 243 M (TeHE)
54,000,000 *14] 54,000 0 54,000
IIBAE &5 220,000 300,000 80,000
402 RIZEXH20IH 220,000 300,000 80,000
01 QIENF 2 AL S (XM TR ) 220,000 300,000 80,000
OFYASIIY ol=ct X&
160,000, 0002 *1JH 2 %50% 80,000 160,000 /80,000
=B ASOHE 476,238 474,938 1,300
= 63,800 62,500 1,300
< 201,093 201,093 0
= 211,345 211,345 0
L=t 3= 25t 476,238 474,938 1,300
= 63,800 62,500 1,300
< 201,093 201,093 0
= 211,345 211,345 0




SA S=
(]

ool L

SA - HY - S9I(3) - HIRAY - BAS o &r 7| 3 o HDS2

SAREH(ARZ20IH) XS 1,300 0 1,300

= 1,300 0 1,300

301 EtE NS 1,300 0 1,300

= 1,300 0 1,300

4 IIEt2 =S 1,300 0 1,300
OA+2 Ot =X

1,300,0002 %1 1,300 0 1,300

= 1,300 0 1,300

s & SIHASSH 7,470,014 7,094,521 375,493

= 667,781 682,781 215,000

Jl 980,740 654,3% 326,346

S 986,250 922,421 63,829

= 4,835,243 4,834,925 318

s & AlsdaDgas 1,661,537 1,575,448 86,089

Il 446,537 416,330 30,207

= 196,000 188,599 7,401

o 1,019,000 970,519 48,481

A AE A M8 X 847,845 740,397 107,448

7l 282,615 246,79 36,816

s 94,205 82,266 11,939

o 471,025 411,332 59,693

301 EetE NS 847,845 740,397 107,448

Il 282,615 246,79 35,816

T 94,205 82,266 11,939

o 471,025 411,332 59,693

14 IIEt2 8= 847,845 740,397 107,448
OZXALZ == HIZH|

63,0003 %14, 953. 174=+90% 847,845 740,397 107,448

Il 282,615 246,79 35,816

= 94,205 82,266 11,939

o 471,025 411,332 59,693

TAE SR A 43,020 43,020 0

Il 21,510 21,510 0

s 21,510 21,510 0

101 21AH| 19,413 27,620 N8,207

Jl 9,707 13,810 4,103

[Ea 9,706 13,810 A4,104

M ORINZZ2NSE S 19,413 27,620 A8,207

OZxAtz=z& 22| K& 19,413 27,620 N8,207

—JlEzs 78,8803 x 12 +140 11,044 16,723 A5,679

Jl 5,522 8,362 A2,840

o 5,522 8,361 N2,839

—wSH| 2,0003 18 x140! 280 424 N144




2A:
X XH -
o e

=aak

SE2MRED
SHRENS U SIHASEH
s 2 ALRMADIEIRE

SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
J| 140 212 NT2
s 140 212 NT2
—=4l 4,000& x1&8 %140 560 848 2288
J| 280 424 A144
= 280 424 A144
—FEE 78,880 * 12428 2,209 3,313 21,104
Il 1,105 1,657 D52
T 1,104 1,65 AB52
—RERgsE 78,8803 12 x 14 1,105 1,104 1
J| 552 552 0
[ia 553 552 1
— g xt=E 84,8803 »1&8%10& 849 849 0
p) 425 424 1
i 424 425 A
—4UEE 16,044,960 *12% 1,926 2,499 VAT
Il 963 1,249 2286
[ias 963 1,250 N8BT
—HEZII 300,000& »1Z+23 600 600 0
Jl 300 300 0
= 300 300 0
— 04 30,0002« 1 +28L 840 1,260 A0
Il 420 630 A210
[ia 420 630 A210
201 L2 23,607 15,400 8,207
J| 11,803 7,700 4,103
s 11,804 7,700 4,104
01 AtR2telbl 23,607 15,400 8,207
OxAz S22l X
23,607,000& x14! 23,607 15,400 8,207
p) 11,803 7,700 4,103
[ia 11,804 7,700 4,104
MNZS XIS EEI K& 7,000 22,500 15,500
= 2,100 6,750 4,650
T 4,900 15,750 210,850
402 SI2ERH=201 S 7,000 22,500 15,500
= 2,100 6,750 A4,650
s 4,900 15,750 210,850
02 QIR 2 AL E X (0IETHR) 7,000 22,500 15,500
OAtZ XS EHIXI&
14,000,000 *17H 2 +50% 7,000 22,500 15,500
S 2,100 6,750 A4,650
fia 4,900 15,750 210,850
Stz SAXE 75,176 81,035 Ab,859




2A:
X XH -
o e

=aak

SE2MRED
SHRENS U SIHASEH
s 2 ALRMADIEIRE

SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
J| 13,312 18,921 A5,609
=S 18,115 18,003 112
ia 43,749 44111 A362
301 22N = 75,176 81,035 A5,859
Il 13,312 18,921 25,609
&< 18,115 18,003 112
= 43,749 44,111 A362
01 ARSI EE A6 (2 REXTHR) 22,186 31,535 N9,349
ORF XM (AIZIHAE)
15,0003 x147.906E » 102 22,186 31,53 N9,349
Il 13,312 18,921 A5,609
& 2,218 3,153 A935
= 6,656 9,461 A2,805
03 AIZIE & 2=5ll= (KILTHR) 52,990 49,500 3,490
OS2 X (CHAHA)
15,0002 +353.265H 102 52,990 49,500 3,490
= 15,897 14,850 1,047
[ias 37,093 34,650 2,443
HSBSAD RS 1,837,499 1,504,320 333,179
J| 351,979 55,840 296,139
= 209,848 209,848 0
[ias 1,275,672 1,238,632 37,040
FNE BYE 54 217,320 230,280 12,960
301 LENZF 73,320 65,000 8,320
14 DBt 243 73,320 65,000 8,320
Osgete datde=s X
300,000 915 27,300 20,000 7,300
OIS X(ZZ0F) MarXe2 XA
30,0003 1,5345% 46,020 45,000 1,020
307 212+01& 0 21,280 n21,280
08 OIXEE =S 0 21,280 N21,280
Ostegal OIxtEd 0= 0 21,280 N21,280
ICT 858 SAXIZ 200,000 0 200,000
J| 150,000 0 150,000
s 50,000 0 50,000
402 SIZERHE0| M 200,000 0 200,000
Jl 150,000 0 150,000
= 50,000 0 50,000
02 QIENZASEEZ (01 THR) 200,000 0 200,000
O=4H20F ict 58 X (AMESLEY]
WIIX ESASE(012150,0008 A= L™
500,000,000 1IH A +40% 200,000 200,000
Il 150,000 0 150,000
= 50,000 0 50,000




2A:
X XH -
o e

=aak

SA B SABH) - KIRAY - BLS o &r o) 3 o HIDS2
FTA LIHE2® MNES(SLH20F) 144,203 0 144,203
Jl 144,203 0 144,203
301 EtE NS 144,203 0 144,203
Jl 144,203 0 144,203
4 IIEt2 =S 144,203 0 144,203
OFTALIH2& &= 144,203 0 144,203
—ot2 53,1193 1,418% 75,323 0 75,323
Il 75,323 0 75,323
—=% 17,2423 +33% 569 0 569
) 569 0 569
— 8t SO0HAl 104,4503 6545 68,311 0 68,311
Jl 68,311 0 68,311
FTALIGH 2 XS M HEH| 500 0 500
Il 500 0 500
201 fer=3| 500 0 500
Il 500 0 500
01 At2teltl 500 0 500
OFTALISHE2 & X=H Y|
500,000& *12] 500 0 500
) 500 0 500
EBasg T2 (AE20) 1,436 0 1,436
Jl 1,436 0 1,436
301 2= 1,436 0 1,436
7l 1,436 0 1,436
4 IIEt2 8= 1,436 0 1,436
OBIAZEEY Z278 AlAY
1,436,0002 1 1,436 0 1,436
Il 1,436 0 1,436
38 =4 54 832,980 855,980 23,000
s 61,134 61,134 0
o 771,846 794,846 A\23,000
AFH=E ICT JIAHEHI 0 5,000 /5,000
405 AtatE=H 0 5,000 /5,000
01 TR =S FSHI 0 5,000 /5,000
OSAHZ=FZICT JIAHHHI 0 5,000 A5,000
—SFHEZICT 2Hl 2L ZX
o 0 5,000 /5,000
JIEER Meldl X2 97,000 115,000 18,000
307 2I2t01 & 97,000 115,000 18,000
02 2B YA R E A 97,000 115,000 18,000
OIIEER X2lbl X2
10,000 %19, 400=+50% 97,000 115,000 18,000
SaE L dae] 2,974,270 2,995,045 AN20,775




FA STEURSL
M SHIRRMNL L SHASEY
Rl FAE YA EER=E)
SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
= 667,781 682,781 15,000
) 162,304 162,304 0
< 427,762 371,34 56,428
= 1,716,423 1,778,626 162,203
SHEA 28 ¥ ASHIE XY 282,080 262,080 20,000
= 78,100 63,100 15,000
[ 60,000 0 60,000
= 143,980 198,980 55,000
101 QI24H| 250, 160 250, 160 0
= 72,140 57,140 15,000
< 40,000 0 40,000
= 138,020 193,020 55,000
M IIRIMZZ2E 2 250, 160 250, 160 0
Oz QIHI(Z2HIFIt 65,880& &)
118,0002 x 10212 250, 160 250, 160 0
= 72,140 57,140 15,000
< 40,000 0 40,000
= 138,020 193,020 55,000
206 MH=HI 20,000 0 20,000
< 20,000 0 20,000
01 M= HI 20,000 0 20,000
O=A ASAE & 78
20,0002 *1,0000H £ 20,000 0 20,000
= 20,000 0 20,000
AXE 24S 100,000 150,000 50,000
= 80,000 120,000 240,000
< 10,000 15,000 25,000
z 10,000 15,000 £5,000
301 LEIENES 100,000 150,000 50,000
= 80,000 120,000 240,000
< 10,000 15,000 5,000
= 10,000 15,000 25,000
14 IIEt2 8= 100,000 150,000 50,000
OdM=24a= 100,000,000 14! 100,000 150,000 50,000
= 80,000 120,000 40,000
(= 10,000 15,000 £5,000
= 10,000 15,000 25,000
JEAl XA 537,998 523,713 14,285
= 240,914 230,914 10,000
[ 52,684 51,256 1,428
s 244,400 241,543 2,857
402 RIR”EXH=201H 145,535 131,250 14,285
= 101,875 91,875 10,000




AN SEMRSH
M SHIRRMNL L SHASEY
oelr SatE dYeidar EER=E)
A -3 - SRA(3H) - MRAE - BES Ofl &F2H I3 A Husz
< 14,553 13,125 1,428
= 29,107 26,250 2,857
03 2IZHRAETAIHHI 145,535 131,250 14,285
OTHAHA(MSs)
2,000& % 145,535 +50% 145,535 131,250 14,285
= 101,875 91,875 10,000
< 14,553 13,125 1,428
= 29,107 26,250 2,857
24g LES XA 5,940 11,000 5,060
301 LEEHZ 5,940 11,000 5,060
1“2 d = 5,940 11,000 25,060
OZAad HgaES NIAL
22,0003 2705 5,940 11,000 5,060
AH2LIH(SFAURSH) 266,360 281,568 ~15,208
IR AH(sS4R7SH 216,104 233,112 A17,008
IARIH(sS4RS) 216,104 233,112 217,008
101 el 216,104 233,112 A 17,008
02 Jletx 2= 6,540 23,548 A 17,008
O=SLS+2A 5,965 22,973 A 17,008
—Z2F+E
9,902 1H+57 Al 2t 13 565 6,773 16,208
—Ag=E 50,0008 «1H =43 200 600 2400
—g9gssd 900,000 x1 =42 3,600 10,800 A7,200
—=HAI2HI 400,0002 x18+42 1,600 4,800 23,200
Jl2dHl(s=45SH) 50,256 48,456 1,800
Jl2ZHl(s=4s8H) 50,256 48,456 1,800
201 ZBt=Ehl 43,2% 41,4% 1,800
01 AlR2telH] 43,2% 41,4% 1,800
OJIEI2EHI(ZN) 8,280,000& 8,280 6,480 1,800
Hees(s=itss) 1,555,872 1,331,090 224,782
NS (sSHMH[SH) 485,872 231,090 224,782
SIS (sFM[SH) 455,872 231,090 224,782
802 Btet=JIEt 455,872 231,090 224,782
01 2 NEXSEHE= 258,079 75,163 182,916
02023 SHATHFSKIHAIL (BTL)AIS (B &
o) 118,960 119 0 119
020238 SSAS(Q14)) MAAL SUEHE
&) 20,700,500 20,701 0 20,701
O2023E XAt ZESE PERIA (0]
xt) 23,890 24 0 24
02016 A7 26X XA (OIR})
1,125,002 1,125 0 1,125
020234 GAP QHE S 24 XIJAS (H8 A
2 OIX}) 254,103 255 0 255




SN SEMRED
. NRES(sHLRSH)
e BEIE(sSEMREN) (St &)
A - 3 - S2A(FH) - MRAY - BES (1;| Palgely J 3 N Hnsz2
02023 (228 AtLD) M2KSHH 2SAH (0]
xh) 1,017,350 1,018 1,018
o022 A2 FAYH 1A, &8l XI& (01X
33,1302 4 A
020233 =ALZ ZYEA J1H, ZHl X (0IX})
18,9802 19 19
02023 AL AP IXI MIZH] XI& (01X
124,590 125 125
02023 At MAtE SRS X2 (01K
320 1 1
020233 AR BR 22| XIS (TeEH)
75,0702 76 76
02023 =ALE ZE& 22| XIK(0IXH)
4,770 5 5
02023 SHMSOFESSH NIRAIY (RS &HeH)
864,000 864 864
02019 LAAS XA (ZBZHH)
15,000,000 15,000 15,000
02019 LAHAE XA A (0IX})
429,570 430 430
02020 LAASE XS AFS (B S &HH)
7,500,000 7,500 7,500
02020 L AAE AR AF (O KF)
249,930 250 250
02020 HHIMEX X OHES)AIE Btatz
881,430 882 882
Q2021 SAF NS AIS (EIBIAF 2 H) s=0F
Bet= 2,630,980 2,631 2,631
Q20218 FAAFONEAS (AIIEZH) st
=] 2,316,550 2,317 2,317
020228 HEASAIE NESX S (B EH)
50,000,000 50,000 50,000
02024 b= orZ (F o)
2,940,000 2,940 2,940
Q20224 Jtsee k= (0|
12,6102 13 13
O2029 SHxEA 29 L ASHIE X2(E
S Ko ) 7,811,950 7,812 7,812
02023 SHxEA 29 L ASHIE XI2(0]
xH) 31,2402 32 2
Q20224 A B4deryd & 28y (&
Sl KoM ) 4,968,000 4,968 4,968
Q20223 A B24lety U Zsiy HEH|(0]
xt) 19,870 20 20
Q2022 XIS ECIAFX|(GPS) AANEE B2
HH PR T 1,320,000 1,320 1,320
020223 ISR EOIAEX|(GPS) AAXE B3
HAH = (01X 5,280 6 6




S SEMRED

M YRLS(SSARSH)

e BEIE(sSEMREN) CERE)D)
- A - CR(S]]) - HIRAY - BES Oi &k Hws2
02022 MR OIARRI(BPS) SolE (e

o) 8,290& 9 9
020224 MHRHIAEXI(GPS) SAIZ(0IXE)
30 1 1
O2022 4 Al 2H0IZAF S ERICHH| X2 (e &
o) 1,575,000& 1,575 1,575
020224 Al 2H0IZA A SE TS| X1 (0IXH)
6,300& 7 7
O2023E JtSMAl XA (B XHH)
13,630,440& 13,631 13,631
02023 Jt=EAL XA (01 A})
68,1203 69 69
02023 HIAZIY X AAS (ESETH)
5,517,500& 5,518 5,518
02023 AT A21E XA (0IX})
27,580& 28 28
O2023F 42012 H & HEREHl XIFA
(DB EH) 4,387,400 4,388 4,388
O2023F S42O0I18H & HEFEHl XIFA
& (0IXH) 24,0802 25 25
02023 Z4AI2 HACCPHAE XIJAIS (B
o) 1,600,000& 1,600 1,600
020234 S4t2 HACCPHAE! XIJAIS (Ha &
o) 8,780& 9 9
02023 SHAY AAANESAH SHs= X
PIAL (T & RHOH) 5,332,000& 5,332 5,332
02023 SHXY AMEA S45l== X
2/ A2 (OIRH) 31,990& 32 32
02023 HI|FRID| BSAIS (B EHoH)
30,000,000 30,000 30,000
020234 MI|F=ED| B2 AL (0IA})
204,650 205 205
02 Al - SHIEXZEHEZ 197,793 41,866
020234 =AIED(12 HACCP &S XIRAAY (&
SH&LOH) 4,000,000 4,000 4,000
02023 GAP ot N 24 X2 A (ZEHRHoH)
75,4102 76 76
02023 GAP ot 24 X2 A (Ol Xt)
1,340& 2 2
020234 At=ats AIEEH XIZAIS (01X
38,690& 39 39
020234 (224 AtL)) MeSSHH A=A (0]
xh) 508,670& 509 509
02023 =AS Tt OHY LR (EIHRH)
703,580 704 704
02023 AR IHUYZ(0IX)
250,870& 251 251
020234 A2 REAIE &Yl XIA(0IXH
14,3203 15 15




S SEMRED
M YRLS(SSARSH)
e BEIE(sSEMREN) CERE)D)
SA -3 - SA(3) - MISAY - B85 Oi &k N3 A Hws2
020234 =42t 0{E SUA JFX| K13 AR
IS RIoH) 960,000 960 960
020234 =420 HE SUA JFX| K13 A
OIXH) 530& 1 1
02023 =MEZR(ARZ20OL) XS
130& 1 1
O2022d =AtE 2GH J13H, &2l X1 (0IXt)
30,030& 31 31
02023 =At2 ZASH I, &l XI&(0IXH)
17,080& 18 18
02023 EALZAFLEIXI HIZ=HI XI&(0IX)
41,510& 42 42
O2023H SHMES0HEE S KIRAIS (a8 &)
288,000 288 288
O2023EH LAl S X2 (B HXH)
1,800,000& 1,800 1,800
OP0194 LARIS PRI RIAIR) (T B RI0H)
1,800,000& 1,800 1,800
020193 LAMASTXI AL (0IXH)
51,520& 52 52
02020 ZAIAS TR AL (R EIH)
900,000& 900 900
02020 L AMASAXIRAA (OIK})
29,9803 30 30
020233 JIEMol2e =22 53 XFA
(T EHEHH) 8,324,810& 8,325 8,325
O2020E HHIHEZ KA (HE)ALY grag
661,070& 662 662
O2021" SAIAFINE AL (EIHIAF LHI) =0t
gretgd 789,290& 790 790
O2R1E ZAroH{ HAAR (ATIE20) S0}
gtetg 694,970 695 695
0202244 JFEEel OB (THTHH)
485,640& 486 486
O2022 It A+Z(0IXH)
1,910& 2 2
Oz &~ E24ety L ey JHEHI(E
SHXHOK) 3,311,000& 3,311 3,311
Q2022 & B4ty U A THEH|(0
) 13,240& 14 14
020224 XFREIAEII(GPS) AAEA B2
HH A= (D AN 39,000& 3% 3%
020224 XSFRHIAEXI(GPS) AAIEA B2
A F=(0IA) 1,580& 2 2
O2022E ISR QUAER(GPS) SAlZ (HEHE
oH) 2,480& 3 3
020224 Al 2H0IZ AL S EXICHH| X2 (B &
o) 472,500 473 473




AN SEMRSH
M HRES(SSARSD)
Eel: BEIE(sSMRs) (CHe: )
A -3 - SRAE) - NRAY - BES Ofl &4 I3 A Husz
02022 Al 2H0IZ A+ S EICHH| X2 (01 Xt)
1,800 2 2
02023 JhEUAl KIRIANY (I TIoH)
2,273,080 2,274 2,274
02023 Jt=Al XA (OIR})
11,330 12 12
O2023 HIAIE XA (ZEH)
1,655,250 1,656 1,656
02023 HUAIE XIAALZ (0I})
8,270& 9 9
O20238 ZMZSO0IFM & HEFEH] XZA
S (ZErH) 1,316,720 1,317 1,317
O20238 ZASO0IFM & AHHEFEH] KZ A
& (0IXH) 7,2303 8 8
020238 =42 HACCPAEE XIAAY (D&
o) ,000& 360 360
O2023E =42 HACCPAEE! XIR A (OIX})
1,980 2 2
02084 JHREID ASQUE SASTHE 8
S0l A (Z>HER) 3,892,350& 3,893 3,893
02023 HRot) ASU= S LS 2t
S0 A (0IRH) 22,000 22 2
02023 88X A=A sS4t X
A (HRHEH) 5,598,600& 5,599 5,599
020238 SR AAA=A S85+2 X
AL (OIRH) 33,590& 34 34




